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FSEEIES (BUS) | #HF SESHD REIL| EX RS | 2B HEAER
1 20190101 2 x B 440682xxxxxxxx2186 01 74. 47 =
2 20190102 X I 440602xxxxxxxx0624 01 83. 37 &
3 20190103 & x & 440682xxxxxxxx4347 01 71. 84 &
4 20190104 xS 440602xxxxxxxx2426 01 69. 06 &
5 20190105 A x 430111xxxxxxxx216x 01 77.70 =
6 20190206 < M 441226xxxxxxxx4037 02 69.29 &
7 20190207 B ox A 440229xxxxxxxx0030 02 71.19 &
8 20190208 X AR 421083xxxxxxxx5333 02 74.175 &
9 20190209 2 x 440229xxxxxxxx4614 02 75. 32 &
10 20190210 JE x 4% 440603xxxxxxxx3032 02 64.47 &
11 20190211 o< F 441623xxxxxxxx1712 02 68. 45 &
12 20190212 & x & 360122xxxxxxxx3012 02 77.16 &
13 20190213 % x 411524xxxxxxxx0031 02 78.18 =
14 20190214 2 x 4¢ 440682xxxxxxxx3232 02 76. 69 =
15 20190315 I x H 440603xxxxxxxx3415 03 72.53 i
16 20190316 £ x 220602xxxxxxxx2427 03 57.03 &
17 20190317 Hox & 440784xxxxxxxx0621 03 73. 66 &
18 20190318 xR 440682xxxxxxxx4712 03 76.12 &
19 20190319 Z x #f 440603xxxxxxxx3414 03 68. 46 &
20 20190320 o] x 3 440682xxxxxxxx2120 03 74.53 =
21 20190321 B X 430626xxxxxxxx0027 03 76.72 3
22 20190322 BL x 445381 xxxxxxxx7842 03 78. 69 &
23 20190323 P ox & 522121xxxxxxxx5644 03 74. 32 =
24 20190324 % x 4 440881 xxxxxxxx0617 03 43.12 &
25 20190325 = x4 440602xxxxxxxx2120 03 78. 69 =




